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89. Correct word for the phonetic transcription / b3:d / is

A bird B birdie C bard D beard

90. Complete the sentence by choosing an appropriate word.

Old people sometimes feel that young people don’t ________

them or pay them enough respect.

A valuables B valued C values D value

------------

iv. fâj« - Mathematics

91. 66/2 – 12 + (14 x 2) / 7 + 32 ‹ kÂ¥ò
A 32 B 30 C 34 D 42

The value of 66/2 – 12 + (14 x 2) / 7 + 32  is.
A 32 B 30 C 34 D 42

92. Ñœ¡f©l Ã‹d§fëš äf¢ Á¿aJ vJ?

A 24/25 B 63/78 C 69/72 D 52/57

Which of the fraction is least?
A 24/25 B 63/78 C 69/72 D 52/57

93. 7 x 8 cl‹ vij¡ T£odhš 7 x 9 »il¡F«.

A 1 B 7 C 56 D 63

What must be added to 7 x 8 to get 7 x 9?
A 1 B 7 C 56 D 63

94. ghl¡ F¿¥Ãid totik¥gt®

A fšéahs®fŸ B jiyikahÁça®
C ghl¤Â£l¡ FGéd® D tF¥ghÁça®fŸ

Lesson Plan is designed by
A Educational Experts B Headmasters
C Syllabus committee D Class teachers
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95.  a = 2, b = 3 våš,  (a + b)2 – (a2 – b2) v‹w nfhitæ‹ kÂ¥ò

A 30 B 20 C 24 D 12

If a = 2 and b = 3 then the value of the expression (a + b)2 – (a2 – b2)
is

A 30 B 20 C 24 D 12

96.  x  + 5 = y + 7, x, y w v‹w rk‹gh£o‰fhd Ô®Îfë‹ v©â¡if.

A 5 B 2 C 3 D >3

The Number of possible solutions for the equation x  + 5 = y + 7, x,
y w are.

A 5 B 2 C 3 D >3

97.xU t£l¤Â‹ Mu« ÏUkl§fhdhš, gu¥gsÎ v¤jid kl§F mÂfç¡F«.

A 2 B 3 C 4 D 1

When the radius of a circle is doubled the area is increased by
__________ times.

A 2 B 3 C 4 D 1

98.tF¥giwæš cŸs mid¤J¡ FHªijfS« FG¡fëš brašg£L f‰W¡
bfhŸS« Kiw

A g§nf‰wš Kiw B éÂtU Kiw
C éÂés¡F Kiw D c©ik efš f‰Ã¤jš Kiw

All the children in the class are engaged in groups and learnt
concepts. This method of learning is called.

A Participatory Method B Inductive Method
C Deductive Method D Simulation Method

99. miu t£l¤Â‹ ika¡ nfhz«

A 900 B 2700 C 1800 D 3600

     The central angle of semi-circle is
A 900 B 2700 C 1800 D 3600

100.bA®gh®o‹ éÂtUKiwæš _‹wh« goãiy MdJ _______________
A x¥ÃLjY«, tif¥gL¤jY« B vL¤J¡ TWjš
C brašgL¤Jjš D bghJ éÂ fhQjš

The third step in Herbart inductive method of teaching is
_____________

A Comparison and classification B Presentation
C Application D Generalization
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101.tF¥giwæš fâj MÁçaç‹ äf K¡»a gâahdJ

A fU¤J¡fis¡ f‰Ã¤jš B cjhuz§fis¤ jUjš
C VJthsuhf khztç‹ f‰wY¡F Jizòçjš
D F¿¥òfis¡ TWjš

The important role of a mathematics teacher in a class is
A Teaching the concept B Giving examples
C Acting as facilitator and helps the children to learn the Concept
D Dictating notes

102.fofhu« 8 kâia¡ fh£L«bghGJ K£fS¡»ilnaÍŸs nfhz«.

A FW§nfhz« B éçnfhz« C br§nfhz« D ne®¡nfhz«

If a clock shows 8 O’clock, then the angle between the two hands
is

A Acute angle B Obtuse angle
C Right angle D Straight angle

103. khj tUkhd« %.25,000/- bgW« eg®. x›bthU khjK« %.2000/-
nrä¡»wh® våš mtUila khj¢ nrä¥ò rjÅj« v›tsÎ?

A 10% B 12% C 15% D 8%

A Person saves Rs.2000/- in this monthly income of Rs.25000/-.
What is the percentage of his saving is

A 10% B 12% C 15% D 8%

104. xU rJu tot ó§fhé‰F ntè mik¡f xU Û£lU¡F %.4/- Åj«

%.1600/- bryth»wJ våš ó§fhé‹ gu¥gsÎ _______________
A 10000 Û2 B 1000 Û2 C 100000 Û2 D 400 Û2

The fencing charges of square shaped park is Rs.1600/- at the

rate of Rs.4/- per metre.  The area of the park is

A 10000 m2 B 1000 m2 C 100000 m2 D 400 m2

105. bfhL¡f¥g£l rJu¤Â‹ gu¥gsÎ 100  Û2. våš ãHèl¥g£l gFÂæ‹
gu¥ò

A 15.5  Û2 B 12.5 Û2 C 10.5 Û2 D 13.5 Û2
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If the area of the given square is 100 m2 then area of the shaded
portion is

A 15.5  m2 B 12.5 m2 C 10.5 m2 D 13.5 m2

106. xU miu t£l¤Â‹ R‰wsÎ 36 br.Û. mj‹ é£l« (brÛ-š)

A 7 B 35 C 22 D 14

The perimeter of a semicircle is 36 cms.  Its diameter (in cms) is
A 7 B 35 C 22 D 14

107.ÑnH bfhL¡f¥g£LŸs g£ilæš 2/5 g§F ãHèl nt©L« vd uŠrdh
nf£L¡ bfhŸs¥g£lhŸ.  mtŸ V‰fdnt 2 gFÂfis ãHè£LŸshŸ.
nkY« v¤jid gFÂfŸ TLjyhf ãHèl¥gl nt©L«?

A 0 B 2 C 3 D 5

Ranjana was asked to shade 2/5 of the strip as shown below.
She has already shaded 2 parts.  How many more parts does she
need to shade?

A 0 B 2 C 3 D 5

108. M®ag£lh vGÂa ò¤jf«

A ÄyhtÂ B thdrh°Âu« C M®arh°Âuh D Ãu«nkh°òl
Á¤jhªj«

The book written by Aryabatta is
A Leelavathi B Aryasashtra C Astronomy D Brahmosphuta

Siddhantam

109. 33‹ 33 rjÅj« ____________

A 10.99 B 10.79 C 10.89 D 10.69

33% of 33 is ____________
A 10.99 B 10.79 C 10.89 D 10.69
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110. uhKél« %.18/- cŸsJ.  mÂš 5 %ghŒ k‰W« 2 %ghŒ ehza§fŸ
k£Lnk  ÏUªjd våš mtål« ÏUªj 2 %ghŒ ehza§fë‹
v©â¡if

A 3 B 4 C 5 D 6

      Ramu has a few 5 rupees and 2 rupees coins. The total value is

Rs.18/-.  The number of two rupees coins that Ramu has

A 3 B 4 C 5 D 6

111. xU miwæ‹ Ús« 30 Û k‰W« mfy« 20 Û våš Ïªj miwia ãu¥g
20 r.Û. gu¥gsÎ¡ bfh©l v¤jid jsãu¥ÃfŸ njit¥gL«?
A 20 B 10 C 50 D 30

The length and breadth of a room is 30 m and 20 m respectively.
 How many tiles of 20 m2 area are required for that room?

A 20 B 10 C 50 D 30

112. mL¤jL¤J tU« VnjD« _‹W KG¡fë‹ TLjš 45, våš mªj
 KG¡fŸ

A 12, 13, 14 B 13, 15, 17 C 14, 15, 16 D 15, 16, 17

The sum of any 3 consecutive integers is 45. Then the integers are
A 12, 13, 14 B 13, 15, 17 C 14, 15, 16 D 15, 16, 17

113. 0.2727……. +0.7373. . . . ‹ kÂ¥ò ___________
A 1.0101. . . B 1.01 C 1.000. . . D 1.0202. . .

The value of 0.2727 . . . . .  + 0.7373. . . . .  is ________
A 1.0101. . . B 1.01 C 1.000. . . D 1.0202. . .

114. xU v©â‹ 5 kl§Fl‹ 5 I T£l »il¥gJ 55 våš, m›bt©

A 11 B 30 C 65 D 10

If 5 is added to 5 times of a number, which results 55 then the
number is
A 11 B 30 C 65 D 10

115.
a
b  = 3 k‰W«

b
c  = 8 våš

cb
ba



‹ kÂ¥ò ___________

A
27
24 B

27
4 C

27
21 D

27
22
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If
a
b  = 3 and

b
c = 8 then the value of

cb
ba

  is _________

A
27
24 B

27
4 C

27
21 D

27
22

116.

       nkny cŸs étu§fŸ v›tif khwèš cŸsd?
A ne®khwš B vÂ®khwš C T£Lkhwš D Ïit VJäšiy

The proportion of the above set of values is _______
A Direct B Inverse C Mixed D None

117. nfh£L¤ J©L¡F v¤jid ika¡F¤J¡ nfhLfŸ c©L?

A 1 B 2 C v©z‰w D 3

How many perpendicular bisectors are there for a line segment?
A 1 B 2 C Countless D 3

118. 7, 9, 12, 8, 9, 15 v‹w étu§fS¡fhd ruhrç, Ïilãiy k‰W« KflhdJ.

A 8, 9, 9 B 9, 9, 9 C 9, 9, 8 D 9, 8,9

The mean, median, mode of 3, 7, 9, 12, 8, 9, 15 is
A 8, 9, 9 B 9, 9, 9 C 9, 9, 8 D 9, 8,9

119. 20 Ïaš v©fë‹ Å¢R
A 18 B 20 C 19 D 21

Range of first 20 natural numbers is
A 18 B 20 C 19 D 21

120. fâj¤Âš ÁwªJ és§f njit¥gLtJ.

A fU¤Âaš k‰W« j®¡f ßÂæš fz¡»id cUth¡Fjš
B fz¡»Ljèš nj®ªjtuhf és§Fjš
C N¤Âu§fis  kd¥ghl« brŒjš
D Ô®Îfis ãidÎ TWjš

To be good in mathematics, one need to.
A create & formulate problems through abstract thinking and

logical reasoning
B have mastery over calculations
C memorizing  formulas
D remember solutions

x 3 5 7 9 10
y 6 15 28 45 60

x 3 5 7 9 10
y 6 15 28 45 60


